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The drawing below shows the rotor of a helicopter.


�


This helicopter has a rotor that moves at a speed of 500 spins per minute while flying.  Which statement is best supported by this information?





A The helicopter will spin 2,000 times in 40 minutes.


B The helicopter rotor will spin 4,000 times before the helicopter lifts off the ground. 


C The helicopter rotor will spin 15,000 times in 3 hours.


D The helicopter rotor will spin 30,000 times in 1 hour. 





Mrs. Blackburn wrote the following riddle on the board for her mathematics class.





	We are 2-digit numbers.  Our greatest 


	common factor is 16.  Our difference is


	48. Our sum is 112.





What are the 2 numbers of the riddle?





A 16 and 48, because their greatest common factor is 16.


B 32 and 80, because their difference is 48 and their greatest common factor is 16.


C 16 and 64, because their difference is 48 and their greatest common factor is 16.


D 48 and 96, because their difference is 48. 
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Mrs. Vega needed to make 2 costumes for a school play.  The larger costume required 4 ¼ yards of material, and the smaller costume required ¾ yard less than the larger one.  Which equation can be used to find n, the number of yards of material needed for the smaller costume?





A n = 4 ¼ + ¾





B n = 4 ¼ � ¾





C n = 4 ¼� ¾





D n = 4 ¼ - ¾
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Mr. Jenkins wants to buy some rosebushes for his garden.  There are four stores in his neighborhood currently having sales on rosebushes.  


�


If Mr. Jenkins wants to save as much money as possible, at which store should he shop?





A Sheldon’s Plant Mart because he wants to buy 4 rosebushes


B Rose Mart, because each rosebush costs almost $3.00


C Kathleen’s Roses, because each rosebush costs $2.95


D Rose Heaven, because the selection is better





The table below shows the favorite sports of the students at Tompkins Middle School.


�


Based on the information in the table, which of the following is a reasonable assumption?





A About 3 times as many students like cycling as volleyball.


B Swimming is almost twice as popular as basketball.


C About 2 times as many students like swimming as volleyball.


D Volleyball is the most popular sport. 





The net profit of a company for each of 5 consecutive years is shown in the table.


�


Which statement is supported by the information in the table?


A The net profit in 1987 was 20% greater than the net profit in 1986. 


B The greatest increase in net profit for 2 consecutive years occurred from 1984 to 1985. 


C The greatest decrease in net profit for 2 consecutive years occurred from 1985 to 1986.


D The sum of the net profits for 1984 and 1985 was greater than the sum of the net profits for 1986 to 1987
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Manny made a rectangular garden in his backyard.  The garden was 24 feet long and 10 feet wide.  Manny used 1/3 of the garden space for vegetables.  He built a 3-foot high fence around the garden to keep his dog out of the garden.  Determine which of the following questions could NOT be answered with the information provided. 





A What was the perimeter of the garden?





B What was the total area of the garden?





C What was the volume of the dirt in the garden?





D What was the area of space used for growing vegetables?
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Identify the equation below that models 


a b a c = a b + c





A �





B �





C �





D �
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It will cost $15,000 for 40 students in a school band to travel to the state fair.  The school as agreed to pay for 75% of the cost of this trip.  The parents of the band members have planned a fund-raiser to raise the remaining amount.  How much money do the parents need to raise for each student?





A $80.00


B  $93.75


C  $187.50


D  $281.25








�





A �





B �





C �





D �
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